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Practice Problems

Solve each of the following inequalities.

L —5e—-3<T g 0L Tt e
5 3

2. -m+13< —Tm+3 9.3(t—4)—4(t—3)>3(t—2)+2(3—1)

3. -2z +4>5zx—10 10 2r+1 3—=x
32

>xrx—2

4. bp—T7<6p+8
11. a—3>5(a—1)—2

5. 8x+1> —-7x+1
12. 3y +4 <3y —2(—by + 18)

6. 3(w—4)+5(w+8) <2(w-1) 13. 2(b+1)—5(b—-3) <2(b-T7)+1

7.32x—-T7)—2(zr+2)>—-5x—-30
14. 322 —1)—5(2—1) <4(z—1)+5
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Practice Problems - Answers

1. set-builder notation: z > —2 8. set-builder notation: z > —8
interval notation: (—2,00) interval notation: (—8,00)
2. set-builder notation: m < —= 9. set-builder notation: ¢t < 0
5 interval notation: (—o0,0)
interval notation: <—oo, —3}

10. set-builder notation: = > —5
3. set-builder notation: z < 2 interval notation: [—5, 00)

interval notation: (—oo, 2]

11. set-builder notation: a <1

4. set-build tation: p > —15 ) .
SevDULCCL TOtablon: P interval notation: (—oo,1)

interval notation: (—15,c0)

5. set-builder notation: x >0 12. set-builder notation: y >4
interval notation: [0, co) interval notation: [4,cc)
6. set-builder notation: w < —5 13. set-builder notation: b > 6

interval notation: (—oo, —5) interval notation: (6,00)

7. set-builder notation: x > —5

interval notation: [5,00) 14. set-builder notation: z < 2

interval notation: (—oo, 2]
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